

County Distribution Detail Report through 08/03/2016

Δı	ıro	ra

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	2,998	1,828	5	4,831	\$6,038.75	\$132.27	\$5,906.48	0.70	\$4,134.54
							Entity Tota	al:	\$4,134.54
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,134.54
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	3,320	10,149	74	13,543	\$16,928.75	\$357.34	\$16,571.41	0.70	\$11,599.99
							Entity Tota	al:	\$11,599.99
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$11,599.99
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	975	1,040	2	2,017	\$2,521.25	\$57.79	\$2,463.46	0.70	\$1,724.42
							Entity Tota	al:	\$1,724.42
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,724.42
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	2,386	3,667	10	6,063	\$7,578.75	\$151.68	\$7,427.07	0.70	\$5,198.95
							Entity Tota	al:	\$5,198.95

							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,198.95
Brookings									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	10,550	19,243	97	29,890	\$37,362.50	\$761.00	\$36,601.50	0.70	\$25,621.05
							Entity Tota	al:	\$25,621.05
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$25,621.05
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	12,081	24,759	180	37,020	\$46,275.00	\$968.77	\$45,306.23	0.70	\$31,714.36
							Entity Tota	al:	\$31,714.36
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$31,714.36
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	2,843	3,452	4	6,299	\$7,873.75	\$162.90	\$7,710.85	0.70	\$5,397.60
							Entity Tota	al:	\$5,397.60
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,397.60
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	621	389	1	1,011	\$1,263.75	\$26.53	\$1,237.22	0.70	\$866.05
							Entity Tota	al:	\$866.05
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$866.05
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	2,985	5,983	9	8,977	\$11,221.25	\$230.87	\$10,990.38	0.70	\$7,693.27

							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$7,693.27
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	859	1,417	2	2,278	\$2,847.50	\$58.79	\$2,788.71	0.70	\$1,952.10
							Entity Tot	al:	\$1,952.10
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,952.10
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	3,266	4,977	8	8,251	\$10,313.75	\$209.16	\$10,104.59	0.70	\$7,073.21
							Entity Tot	al:	\$7,073.21
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$7,073.21
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	59	1,615	0	1,674	\$2,092.50	\$45.29	\$2,047.21	0.70	\$1,433.05
							Entity Tot	al:	\$1,433.05
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,433.05
City of North Sioux	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	1,434	2,297	62	3,793	\$4,741.25	\$108.71	\$4,632.54	0.70	\$3,242.78
							Entity Tot	al:	\$3,242.78
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,242.78
City of Sioux Falls, I	_incoln (

Entity Total:

\$7,693.27

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	6,108	18,117	187	24,412	\$30,515.00	\$689.44	\$29,825.56	0.70	\$20,877.89
							Entity Tota	ıl:	\$20,877.89
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$20,877.89
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	1,659	2,391	2	4,052	\$5,065.00	\$101.33	\$4,963.67	0.70	\$3,474.57
							Entity Tota	nl:	\$3,474.57
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$3,474.57
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	1,940	7,078	61	9,079	\$11,348.75	\$237.90	\$11,110.85	0.70	\$7,777.60
							Entity Tota	nl:	\$7,777.60
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$7,777.60
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	8,387	18,165	54	26,606	\$33,257.50	\$679.18	\$32,578.32	0.70	\$22,804.82
							Entity Tota	nl:	\$22,804.82
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$22,804.82
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	1,464	509	4	1,977	\$2,471.25	\$50.70	\$2,420.55	0.70	\$1,694.39
							Entity Tota	al:	\$1,694.39
							Adjustmen	nt:	\$0.00

Custer

ouoto.									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	3,908	4,801	28	8,737	\$10,921.25	\$244.31	\$10,676.94	0.70	\$7,473.86
							Entity Tota	al:	\$7,473.86
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,473.86
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	6,443	13,221	222	19,886	\$24,857.50	\$533.00	\$24,324.50	0.70	\$17,027.15
							Entity Tota	al:	\$17,027.15
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$17,027.15
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	2,641	3,450	4	6,095	\$7,618.75	\$154.39	\$7,464.36	0.70	\$5,225.05
							Entity Tota	al:	\$5,225.05
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,225.05
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	2,339	2,780	5	5,124	\$6,405.00	\$142.10	\$6,262.90	0.70	\$4,384.03
							Entity Tota	al:	\$4,384.03
							Adjustmer		\$0.00
							Total Amo	unt:	\$4,384.03
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	1,462	2,023	4	3,489	\$4,361.25	\$87.80	\$4,273.45	0.70	\$2,991.42

							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,991.42
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	1,500	2,731	7	4,238	\$5,297.50	\$106.09	\$5,191.41	0.70	\$3,633.99
							Entity Tot	al:	\$3,633.99
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,633.99
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	3,598	3,946	9	7,553	\$9,441.25	\$189.97	\$9,251.28	0.70	\$6,475.90
							Entity Tot	al:	\$6,475.90
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,475.90
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	1,016	1,365	4	2,385	\$2,981.25	\$60.88	\$2,920.37	0.70	\$2,044.26
							Entity Tot	al:	\$2,044.26
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,044.26
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	2,753	5,079	152	7,984	\$9,980.00	\$225.09	\$9,754.91	0.70	\$6,828.44
							Entity Tot	al:	\$6,828.44
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,828.44
Gregory									

Entity Total:

\$2,991.42

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	2,032	3,479	3	5,514	\$6,892.50	\$148.94	\$6,743.56	0.70	\$4,720.49
							Entity Tota	l:	\$4,720.49
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$4,720.49
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	1,110	1,343	5	2,458	\$3,072.50	\$61.46	\$3,011.04	0.70	\$2,107.73
							Entity Tota	l:	\$2,107.73
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,107.73
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	2,084	3,499	7	5,590	\$6,987.50	\$139.87	\$6,847.63	0.70	\$4,793.34
							Entity Tota	l:	\$4,793.34
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$4,793.34
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	1,353	2,593	12	3,958	\$4,947.50	\$99.98	\$4,847.52	0.70	\$3,393.26
							Entity Tota	l:	\$3,393.26
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$3,393.26
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	1,103	2,864	18	3,985	\$4,981.25	\$100.81	\$4,880.44	0.70	\$3,416.31
							Entity Tota	l:	\$3,416.31
							Adjustmen	t:	\$0.00

Harding

· · · · · · · · · · · · · · · · · · ·									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	764	828	1	1,593	\$1,991.25	\$49.58	\$1,941.67	0.70	\$1,359.17
							Entity Tota	al:	\$1,359.17
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$1,359.17
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	5,357	14,068	145	19,570	\$24,462.50	\$515.04	\$23,947.46	0.70	\$16,763.22
							Entity Tota	al:	\$16,763.22
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$16,763.22
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	3,498	4,831	8	8,337	\$10,421.25	\$208.43	\$10,212.82	0.70	\$7,148.97
							Entity Tota	al:	\$7,148.97
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$7,148.97
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	834	1,036	2	1,872	\$2,340.00	\$48.04	\$2,291.96	0.70	\$1,604.37
							Entity Tota	al:	\$1,604.37
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$1,604.37
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	755	788	0	1,543	\$1,928.75	\$38.61	\$1,890.14	0.70	\$1,323.10

							•		•
							Total Amo	unt:	\$1,323.10
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	1,043	1,195	0	2,238	\$2,797.50	\$55.96	\$2,741.54	0.70	\$1,919.08
							Entity Tota	al:	\$1,919.08
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,919.08
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	625	632	6	1,263	\$1,578.75	\$31.73	\$1,547.02	0.70	\$1,082.91
							Entity Tota	al:	\$1,082.91
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,082.91
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	1,638	3,893	5	5,536	\$6,920.00	\$140.91	\$6,779.09	0.70	\$4,745.36
							Entity Tota	al:	\$4,745.36
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,745.36
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	3,482	9,206	55	12,743	\$15,928.75	\$328.37	\$15,600.38	0.70	\$10,920.27
							Entity Tota	al:	\$10,920.27
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$10,920.27
Lawrence									

\$1,323.10

\$0.00

Entity Total:

Adjustment:

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	9,632	15,261	60	24,953	\$31,191.25	\$648.15	\$30,543.10	0.70	\$21,380.17
							Entity Tota	l:	\$21,380.17
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$21,380.17
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	6,194	20,232	492	26,918	\$33,647.50	\$758.26	\$32,889.24	0.70	\$23,022.47
							Entity Tota	l:	\$23,022.47
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$23,022.47
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	1,429	1,821	1	3,251	\$4,063.75	\$87.33	\$3,976.42	0.70	\$2,783.49
							Entity Tota	l:	\$2,783.49
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,783.49
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	2,114	2,642	8	4,764	\$5,955.00	\$119.67	\$5,835.33	0.70	\$4,084.73
							Entity Tota	l:	\$4,084.73
							Adjustmen	t:	\$0.00
							Total Amor	unt:	\$4,084.73
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	2,763	4,094	8	6,865	\$8,581.25	\$171.68	\$8,409.57	0.70	\$5,886.70
							Entity Tota	l:	\$5,886.70
							Adjustmen	t:	\$0.00

McPherson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	1,187	1,513	1	2,701	\$3,376.25	\$66.36	\$3,309.89	0.70	\$2,316.92
							Entity Tota	al:	\$2,316.92
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$2,316.92
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	4,575	15,975	79	20,629	\$25,786.25	\$551.42	\$25,234.83	0.70	\$17,664.38
							Entity Total	al:	\$17,664.38
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$17,664.38
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	635	634	0	1,269	\$1,586.25	\$31.77	\$1,554.48	0.70	\$1,088.14
							Entity Tota	al:	\$1,088.14
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,088.14
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	1,143	1,523	53	2,719	\$3,398.75	\$83.94	\$3,314.81	0.70	\$2,320.37
							Entity Tota	al:	\$2,320.37
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$2,320.37
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	49,466	138,568	1,596	189,630	\$237,037.50	\$4,988.48	\$232,049.02	0.70	\$162,434.31

							Total Amount:		\$162,434.31
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	1,627	4,348	10	5,985	\$7,481.25	\$173.69	\$7,307.56	0.70	\$5,115.29
							Entity Tota	al:	\$5,115.29
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,115.29
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	30,546	70,187	632	101,365	\$126,706.25	\$2,619.18	\$124,087.07	0.70	\$86,860.95
							Entity Tota	al:	\$86,860.95
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$86,860.95
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	1,923	2,370	6	4,299	\$5,373.75	\$117.14	\$5,256.61	0.70	\$3,679.63
							Entity Tota	al:	\$3,679.63
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,679.63
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	1,521	1,730	4	3,255	\$4,068.75	\$81.40	\$3,987.35	0.70	\$2,791.15
							Entity Tota	al:	\$2,791.15
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,791.15
Roberts									

Entity Total:

Adjustment:

\$162,434.31

\$0.00

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	4,215	4,505	6	8,726	\$10,907.50	\$239.96	\$10,667.54	0.70	\$7,467.28
							Entity Tota	ıl:	\$7,467.28
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$7,467.28
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	986	1,764	0	2,750	\$3,437.50	\$68.77	\$3,368.73	0.70	\$2,358.11
							Entity Tota	ıl:	\$2,358.11
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,358.11
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	2,330	4,424	6	6,760	\$8,450.00	\$169.80	\$8,280.20	0.70	\$5,796.14
							Entity Tota	ıl:	\$5,796.14
							Adjustmen	t:	\$0.00
							Total Amount:		\$5,796.14
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	871	2,146	12	3,029	\$3,786.25	\$77.50	\$3,708.75	0.70	\$2,596.13
							Entity Tota	ıl:	\$2,596.13
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,596.13
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	898	1,096	1	1,995	\$2,493.75	\$49.99	\$2,443.76	0.70	\$1,710.63
							Entity Tota	ıl:	\$1,710.63
							Adjustmen	t:	\$0.00

Todd

Toda									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	0	7	85	92	\$115.00	\$7.01	\$107.99	0.70	\$75.59
							Entity Tota	nl:	\$75.59
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$75.59
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	2,810	3,704	7	6,521	\$8,151.25	\$163.05	\$7,988.20	0.70	\$5,591.74
							Entity Tota	ıl:	\$5,591.74
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,591.74
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	2,581	5,833	12	8,426	\$10,532.50	\$211.17	\$10,321.33	0.70	\$7,224.93
							Entity Tota	nl:	\$7,224.93
							Adjustment: Total Amount:		\$0.00
									\$7,224.93
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	4,026	9,608	85	13,719	\$17,148.75	\$422.56	\$16,726.19	0.70	\$11,708.33
							Entity Tota	al:	\$11,708.33
							Adjustmer	nt:	\$0.00
							Total Amount:		\$11,708.33
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	2,473	3,504	13	5,990	\$7,487.50	\$151.63	\$7,335.87	0.70	\$5,135.11

Entity Total: \$5,135.11 Adjustment: \$0.00

Total Amount: \$5,135.11

Yankton

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2016	6,526	14,676	34	21,236	\$26,545.00	\$541.65	\$26,003.35	0.70	\$18,202.35
							Entity Tota	nl:	\$18,202.35
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$18,202.35
Totals	257,744	548,892	4,675	811,311	\$ 1,014,138.75	\$ 21,342.57	\$ 992,796.18		